

A note on normal ordering of degenerate integral powers of number operator

Taekyun Kim¹ , Dae San Kim²  and Kyo-Shin Hwang³ 

¹ Department of Mathematics, Kwangwoon University
Seoul 139-701, Republic of Korea
e-mail: tkkim@kw.ac.kr

² Department of Mathematics, Sogang University
Seoul 121-742, Republic of Korea
e-mail: dskim@sogang.ac.kr

³ Graduate School of Education, Yeungnam University
Gyeongsan 3854, Republic of Korea
e-mail: kshwang@yu.ac.kr

Received: 14 September 2025

Revised: 25 October 2025

Accepted: 27 October 2025

Online First: 5 November 2025

Abstract: This study derives the normal ordering expansion of degenerate integral powers of the number operator, $(a^\dagger a)_{n,\lambda}$, using recurrence relations for the coefficients and an operator action on number states. Here $a^\dagger$ and a are respectively the boson creation and annihilation operators. We also determine the inverse of this normal ordering expansion. By analyzing diagonal coherent state elements of the degenerate integral powers of the number operator, we establish a combinatorial identity which yields a Dobinski-like formula for the degenerate Bell numbers at a specific value, connecting degenerate quantum operator calculus with combinatorics.

Keywords: Degenerate integral powers, Normal ordering, Degenerate Stirling numbers of the second kind.

2020 Mathematics Subject Classification: 11B73, 11B83.



1 Introduction

For any nonzero $\lambda \in \mathbb{R}$, the *degenerate integral powers of x* are defined by

$$(x)_{0,\lambda} = 1, \quad (x)_{n,\lambda} = x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda), \quad (n \geq 1), \quad (1)$$

(see [5,6]). The degenerate exponentials are given by

$$e_\lambda^x(t) = \sum_{k=0}^{\infty} (x)_{k,\lambda} \frac{t^k}{k!}, \quad e_\lambda(t) = e_\lambda^1(t), \quad (2)$$

(see [4–6]). It is known that the degenerate Stirling numbers of the first kind are defined by

$$(x)_n = \sum_{k=0}^n S_{1,\lambda}(n,k) (x)_{k,\lambda}, \quad (n \geq 0), \quad (3)$$

(see [4–7]), where

$$(x)_0 = 1, \quad (x)_n = x(x-1)\cdots(x-n+1), \quad (n \geq 1).$$

The unsigned degenerate Stirling numbers of the first kind are given by

$$\left[\begin{matrix} n \\ k \end{matrix} \right]_\lambda = (-1)^{n-k} S_{1,\lambda}(n,k), \quad (n \geq k \geq 0), \quad (4)$$

(see [4–7]). Thus, by (3) and (4), we get

$$(x)_n = \sum_{k=0}^n \left[\begin{matrix} n \\ k \end{matrix} \right]_\lambda (-1)^{n-k} (x)_{k,\lambda}, \quad (n \geq 0), \quad (\text{see [4,5]}). \quad (5)$$

As the inversion formula of (3), the degenerate Stirling numbers of the second kind are defined by

$$(x)_{n,\lambda} = \sum_{k=0}^n \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda (x)_k, \quad (n \geq 0), \quad (6)$$

(see [4–7]), where $\left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda = \lim_{\lambda \rightarrow 0} \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda$ are the ordinary Stirling numbers of the second kind given by (see [2])

$$x^n = \sum_{k=0}^n \left\{ \begin{matrix} n \\ k \end{matrix} \right\} (x)_k, \quad (n \geq 0).$$

From (6), we note that (see [7])

$$\begin{aligned} \left\{ \begin{matrix} n+1 \\ k \end{matrix} \right\}_\lambda &= \left\{ \begin{matrix} n \\ k-1 \end{matrix} \right\}_\lambda + (k-n\lambda) \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda, \quad (n \geq k \geq 1), \\ \left\{ \begin{matrix} 0 \\ 0 \end{matrix} \right\} &= 1, \quad \left\{ \begin{matrix} n \\ 0 \end{matrix} \right\} = 0, \quad (n \geq 1), \quad \left\{ \begin{matrix} n \\ k \end{matrix} \right\} = 0, \quad (0 \leq n < k). \end{aligned} \quad (7)$$

In addition, from (6), we have

$$\frac{1}{k!} (e_\lambda(t) - 1)^k = \sum_{n=k}^{\infty} \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda \frac{t^n}{n!}, \quad (k \geq 0) \quad (8)$$

(see [4–7]).

The boson annihilation and creation operators a and $a^\dagger$ satisfy the commutation relation:

$$1 = [a, a^\dagger] = aa^\dagger - a^\dagger a. \quad (9)$$

The normal ordering of integral powers of the number operator $a^\dagger a$ is written as

$$(a^\dagger a)^k = \sum_{l=0}^k \left\{ \begin{matrix} k \\ l \end{matrix} \right\} (a^\dagger)^l a^l, \quad (k \geq 0) \quad (10)$$

(see [1, 3, 7–9]).

This paper is inspired by theoretical quantum mechanics and mathematical physics, specifically focusing on operator ordering and quantum statistics. We investigate the normal ordering expansion of degenerate integral powers $(a^\dagger a)_{n,\lambda}$ of the number operator, $a^\dagger a$. We derive the normal ordering expansion for the operator using two distinct methods:

- Determining a recurrence relation for the coefficients $A_\lambda(n, l)$ in the expansion:

$$(a^\dagger a)_{n,\lambda} = \sum_{l=0}^n A_\lambda(n, l) (a^\dagger)^l a^l.$$

- Computing the action of the operator $e_\lambda^m(t)$ on a number state, $e_\lambda^m(t)|m\rangle$, in two different ways.

Furthermore, we deduce the inverse of this normal ordering expansion. Finally, by computing the diagonal coherent state elements $\langle \alpha | (a^\dagger a)_{k,\lambda} | \alpha \rangle$ in two ways, we establish an identity that yields a Dobinski-like formula for the degenerate Bell numbers when $\alpha = 1$.

2 A note on normal ordering of degenerate integral powers of number operator

The number states $|m\rangle$ satisfy

$$a|m\rangle = \sqrt{m}|m-1\rangle \quad \text{and} \quad a^\dagger|m\rangle = \sqrt{m+1}|m+1\rangle. \quad (11)$$

We now consider normal ordering of degenerate integral powers of the number operator $a^\dagger a$: (see (1))

$$(a^\dagger a)_{n,\lambda} = \sum_{l=0}^n A_\lambda(n, l) (a^\dagger)^l a^l, \quad (n \geq 0). \quad (12)$$

From (12), we note that

$$A_\lambda(0, 0) = 1, \quad A_\lambda(n, 0) = 0, \quad (n \geq 1), \quad A_\lambda(n, l) = 0, \quad (l > n \geq 0). \quad (13)$$

For $l \in \mathbb{N}$, we have (see (9))

$$\begin{aligned}
[a, (a^\dagger)^l] &= a(a^\dagger)^l - (a^\dagger)^l a = a(a^\dagger)^l - (a^\dagger)^{l-1} a a^\dagger + (a^\dagger)^{l-1} a a^\dagger - (a^\dagger)^l a \\
&= \left(a(a^\dagger)^{l-1} - (a^\dagger)^{l-1} a \right) a^\dagger + (a^\dagger)^{l-1} (a a^\dagger - a^\dagger a) \\
&= [a, (a^\dagger)^{l-1}] a^\dagger + (a^\dagger)^{l-1} = [a, (a^\dagger)^{l-2}] (a^\dagger)^2 + 2(a^\dagger)^{l-1} \\
&= [a, (a^\dagger)^{l-3}] (a^\dagger)^3 + 3(a^\dagger)^{l-1} = \dots \\
&= [a, a^\dagger] (a^\dagger)^{l-1} + (l-1)(a^\dagger)^{l-1} = l(a^\dagger)^{l-1}.
\end{aligned} \tag{14}$$

Thus, by (14), we get

$$\begin{aligned}
(a^\dagger a)(a^\dagger)^l &= a^\dagger (a(a^\dagger)^l) = a^\dagger (l(a^\dagger)^{l-1} + (a^\dagger)^l a) \\
&= (a^\dagger)^l (l + a^\dagger a).
\end{aligned} \tag{15}$$

Hence, by (9), we get

$$\begin{aligned}
a^l (a^\dagger a) &= a^{l-1} (a a^\dagger) a = a^{l-1} (a^\dagger a + 1) a = a^l + a^{l-1} (a^\dagger a) a \\
&= 2a^l + a^{l-2} (a^\dagger a) a^2 = 3a^l + a^{l-3} (a^\dagger a) a^3 = \dots \\
&= l a^l + (a^\dagger a) a^l = l a^l + a^\dagger a^{l+1}.
\end{aligned} \tag{16}$$

From (16), we note that

$$\begin{aligned}
\sum_{l=0}^{n+1} A_\lambda(n+1, l) (a^\dagger)^l a^l &= (a^\dagger a)_{n+1, \lambda} = (a^\dagger a)_{n, \lambda} (a^\dagger a - n\lambda) \\
&= \sum_{l=0}^n A_\lambda(n, l) (a^\dagger)^l a^l (a^\dagger a - n\lambda) \\
&= \sum_{l=0}^n A_\lambda(n, l) (a^\dagger)^{l+1} a^{l+1} + \sum_{l=0}^n (l - n\lambda) A_\lambda(n, l) (a^\dagger)^l a^l \\
&= \sum_{l=0}^{n+1} A_\lambda(n, l-1) (a^\dagger)^l a^l + \sum_{l=0}^{n+1} (l - n\lambda) A_\lambda(n, l) (a^\dagger)^l a^l.
\end{aligned} \tag{17}$$

By (17), we get

$$A_\lambda(n+1, l) = A_\lambda(n, l-1) + (l - n\lambda) A_\lambda(n, l), \tag{18}$$

where $n \geq l \geq 0$. From (7), (13), and (18), we have

$$A_\lambda(n, l) = \left\{ \begin{matrix} n \\ l \end{matrix} \right\}_\lambda, \quad (n, l \geq 0). \tag{19}$$

Thus, from (12) and (19), we obtain:

$$(a^\dagger a)_{n, \lambda} = \sum_{l=0}^n \left\{ \begin{matrix} n \\ l \end{matrix} \right\}_\lambda (a^\dagger)^l a^l, \quad (n \geq 0). \tag{20}$$

From (11), we have

$$(a^\dagger)^n a^n |m\rangle = m(m-1) \cdots (m-n+1) |m\rangle = (m)_n |m\rangle. \tag{21}$$

Note that

$$\begin{aligned}(a^\dagger a)_n |m\rangle &= (a^\dagger a)(a^\dagger a - 1) \cdots (a^\dagger a - n + 1) |m\rangle \\ &= m(m-1) \cdots (m-n+1) |m\rangle \\ &= (m)_n |m\rangle,\end{aligned}\quad (22)$$

and that (see (1))

$$\begin{aligned}(a^\dagger a)_{n,\lambda} |m\rangle &= (a^\dagger a)(a^\dagger a - \lambda) \cdots (a^\dagger a - (n-1)\lambda) |m\rangle \\ &= m(m-\lambda) \cdots (m-(n-1)\lambda) |m\rangle \\ &= (m)_{n,\lambda} |m\rangle.\end{aligned}\quad (23)$$

By (21) and (22), we get

$$(a^\dagger)^n a^n |m\rangle = (a^\dagger a)_n |m\rangle, \quad (n \geq 0). \quad (24)$$

From (3) and (24), we have (see (5))

$$\begin{aligned}(a^\dagger)^n a^n &= (a^\dagger a)_n = \sum_{l=0}^n S_{1,\lambda}(n, l) (a^\dagger a)_{l,\lambda} \\ &= \sum_{l=0}^n \begin{bmatrix} n \\ l \end{bmatrix}_\lambda (-1)^{n-l} (a^\dagger a)_{l,\lambda}, \quad (n \geq 0),\end{aligned}$$

which is the inverse of the expansion in (20).

We now show another method of obtaining normal ordering of degenerate integral powers of the number operator $a^\dagger a$. By (8) and (21), we get

$$\begin{aligned}\sum_{k=0}^{\infty} \frac{t^k}{k!} \sum_{l=0}^k \begin{Bmatrix} k \\ l \end{Bmatrix}_\lambda (a^\dagger)^l a^l |m\rangle &= \sum_{l=0}^{\infty} \sum_{k=l}^{\infty} \frac{t^k}{k!} \begin{Bmatrix} k \\ l \end{Bmatrix}_\lambda (a^\dagger)^l a^l |m\rangle \\ &= \sum_{l=0}^{\infty} \frac{1}{l!} (e_\lambda(t) - 1)^l (a^\dagger)^l a^l |m\rangle = \sum_{l=0}^{\infty} \frac{(m)_l}{l!} (e_\lambda(t) - 1)^l |m\rangle \\ &= \sum_{l=0}^m \binom{m}{l} (e_\lambda(t) - 1)^l |m\rangle = e_\lambda^m(t) |m\rangle.\end{aligned}\quad (25)$$

On the other hand, by (2) and (23), we get

$$\begin{aligned}e_\lambda^{a^\dagger a}(t) |m\rangle &= \sum_{k=0}^{\infty} \frac{t^k}{k!} (a^\dagger a)_{k,\lambda} |m\rangle = \sum_{k=0}^{\infty} \frac{t^k}{k!} (m)_{k,\lambda} |m\rangle \\ &= e_\lambda^m(t) |m\rangle.\end{aligned}\quad (26)$$

From (25) and (26), we note that

$$\begin{aligned}\sum_{k=0}^{\infty} \sum_{l=0}^k \begin{Bmatrix} k \\ l \end{Bmatrix}_\lambda (a^\dagger)^l a^l \frac{t^k}{k!} |m\rangle &= e_\lambda^{a^\dagger a}(t) |m\rangle \\ &= \sum_{k=0}^{\infty} (a^\dagger a)_{k,\lambda} \frac{t^k}{k!} |m\rangle.\end{aligned}\quad (27)$$

By comparing the coefficients on both sides of (27), we again get the expansion in (20):

$$(a^\dagger a)_{k,\lambda} = \sum_{l=0}^k \begin{Bmatrix} k \\ l \end{Bmatrix}_\lambda (a^\dagger)^l a^l, \quad (k \geq 0). \quad (28)$$

The normal ordering of degenerate integral powers of number operator is particularly useful in coherent state representation. First, we recall that the coherent states satisfy (see [3])

$$a|\alpha\rangle = \alpha|\alpha\rangle, \quad \langle\alpha|a^\dagger = \langle\alpha|\bar{\alpha}, \quad \langle\alpha|\alpha\rangle = 1, \quad (\alpha \in \mathbb{C}). \quad (29)$$

Second, discarding the phase factors, the coherent expansions are given by:

$$|\alpha\rangle = e^{-\frac{|\alpha|^2}{2}} \sum_{n=0}^{\infty} \frac{\alpha^n}{\sqrt{n!}} |n\rangle, \quad \langle\alpha| = e^{-\frac{|\alpha|^2}{2}} \sum_{n=0}^{\infty} \frac{\bar{\alpha}^n}{\sqrt{n!}} \langle n|. \quad (30)$$

Third, the eigenstates $|n\rangle$, for $n \in \mathbb{N}$, satisfy

$$a^\dagger a |n\rangle = n |n\rangle, \quad \langle m | n \rangle = \delta_{m,n}, \quad (31)$$

where $\delta_{m,n}$ is the Kronecker's symbol. We now compute the diagonal coherent state elements of the operator $(a^\dagger a)_{k,\lambda}$ in two different ways. On the one hand, using (28) and (29), we have

$$\begin{aligned} \langle\alpha|(a^\dagger a)_{k,\lambda}|\alpha\rangle &= \sum_{l=0}^k \left\{ \begin{matrix} k \\ l \end{matrix} \right\}_\lambda \langle\alpha|(a^\dagger)^l a^l |\alpha\rangle \\ &= \sum_{l=0}^k \left\{ \begin{matrix} k \\ l \end{matrix} \right\}_\lambda |\alpha|^{2l} \langle\alpha|\alpha\rangle \\ &= \sum_{l=0}^k \left\{ \begin{matrix} k \\ l \end{matrix} \right\}_\lambda |\alpha|^{2l}, \quad (k \geq 0). \end{aligned} \quad (32)$$

On the other hand, by the coherent expansion in (30) and (31), we get

$$\begin{aligned} \langle\alpha|(a^\dagger a)_{k,\lambda}|\alpha\rangle &= e^{-|\alpha|^2/2} e^{-|\alpha|^2/2} \sum_{m=0}^{\infty} \frac{\bar{\alpha}^m}{\sqrt{m!}} \sum_{n=0}^{\infty} \frac{\alpha^n}{\sqrt{n!}} \langle m | (a^\dagger a)_{k,\lambda} | n \rangle \\ &= e^{-|\alpha|^2} \sum_{m=0}^{\infty} \frac{\bar{\alpha}^m}{\sqrt{m!}} \sum_{n=0}^{\infty} \frac{\alpha^n}{\sqrt{n!}} (n)_{k,\lambda} \langle m | n \rangle \\ &= e^{-|\alpha|^2} \sum_{m=0}^{\infty} \frac{|\alpha|^{2m}}{m!} (m)_{k,\lambda}. \end{aligned} \quad (33)$$

Thus, from (32) and (33), we get

$$\sum_{l=0}^k \left\{ \begin{matrix} k \\ l \end{matrix} \right\}_\lambda |\alpha|^{2l} = \frac{1}{e^{|\alpha|^2}} \sum_{m=0}^{\infty} \frac{|\alpha|^{2m}}{m!} (m)_{k,\lambda}. \quad (34)$$

In particular, letting $\alpha = 1$ in (34) gives the following Dobinski-like formula:

$$\phi_{k,\lambda} = \frac{1}{e} \sum_{m=0}^{\infty} \frac{(m)_{k,\lambda}}{m!}, \quad (k \geq 0),$$

where $\phi_{k,\lambda} = \sum_{l=0}^k \left\{ \begin{matrix} k \\ l \end{matrix} \right\}_\lambda$ is the k -th degenerate Bell number.

3 Conclusion

This investigation successfully derived the normal ordering expansion for degenerate integral powers of the number operator, $(a^\dagger a)_{n,\lambda}$, providing a clear algebraic representation in terms of powers of the normal ordered operator $(a^\dagger)^l a^l$. The consistency of the results was established by employing two independent methods: one relying on a recurrence relation for the expansion coefficients and the other utilizing the action of the exponential operator $e_\lambda^m(t)$ on number states. Crucially, we also determined the inverse expansion, which is essential for transforming between ordered forms in quantum field theory and quantum optics. The most significant finding, however, comes from analyzing the diagonal coherent state elements. By computing $\langle \alpha | (a^\dagger a)_{k,\lambda} | \alpha \rangle$ in two distinct ways, we established a non-trivial combinatorial identity. When this identity is evaluated at $\alpha = 1$, it directly yields a Dobinski-like formula for the degenerate Bell numbers. This result connects the abstract algebraic properties of degenerate number operator powers to the field of combinatorics, offering a new perspective on these important number sequences and validating the utility of operator ordering techniques in establishing novel combinatorial identities.

References

- [1] Blasiak, P., Horzela, A. Penson, K. A., Solomon, A. I., & Duchamp, G. H. E. (2007). Combinatorics and boson normal ordering: A gentle introduction. *American Journal of Physics*, 75(7), 639–646.
- [2] Comtet, L. (1974). *Advanced Combinatorics. The Art of Finite and Infinite Expansions*. (Revised and enlarged ed.). D. Reidel Publishing Co., Dordrecht.
- [3] Katriel, J. (1974). Combinatorial aspects of boson algebra. *Lettere al Nuovo Cimento (1971–1985)*, 10, 565–567.
- [4] Kim, T., & Kim, D. S. (2022). Some identities on degenerate r -Stirling numbers via boson operators. *Russian Journal of Mathematical Physics*, 29(4), 508–517.
- [5] Kim, T., & Kim, D. S. (2025). Heterogeneous Stirling numbers and heterogeneous Bell polynomials. *Russian Journal of Mathematical Physics*, 32(3), 498–509.
- [6] Kim, T., & Kim, D. S. (2025). Spivey-type recurrence relations for degenerate Bell and Dowling polynomials. *Russian Journal of Mathematical Physics*, 32(2), 288–296.
- [7] Kim, T., Kim, D. S., & Kim, H. K. (2022). Normal ordering of degenerate integral powers of number operator and its applications. *Applied Mathematics in Science and Engineering*, 30(1), 440–447.
- [8] Perelomov, A. (1986). *Generalized Coherent States and Their Applications*. Texts and Monographs in Physics Series, Springer-Verlag, Berlin.
- [9] Schork, M. (2021). Recent developments in combinatorial aspects of normal ordering. *Enumerative Combinatorics and Applications*, 1(2), Article ID S2S2.